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(Indirect Tax Laws )
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The figures in the margin indicate

Jull marks for the questions.

Answer either in English or in Assamese.
1. (A) Choose the correct answer : 1x5=5

um Ued qifb Sieeq s

(i)  Which of the following is not correct with
regard to GST ?

AN TS (T FIE ANOS Oold (DI0] e wm
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(a) It is a value added tax
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(b) It is a destination based tax

3@?\5@?@‘

(c) 1tis collected at multiple stages

T [fen T Moz =

(d) Only Central Government: is
authorised to collect this tax ' ()

@B YA PG (T @@nwm
7 9 (2=

(i) Which of the followmg will not be
charged to GST ?

o (FIRK AN G2 7440 ST (19 41
9 T= 2

(a) Jewellery
2=

(b) Eiectronic goods

ST A

a4 JCBCY HC2 1Ty /6 o

(d)

Alcoholic liquor for human
consumption

S (AR SVRwd)

LIC Policy
Gl Il I

Which of the following is correct with
regard to IGST ?

FT® /6] ©N<s (] TR MO Gold (0! S

oy ?
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(b)

(c)

(d)

It is levied by the State
Governments

B IS IR0 TN FE

It is sum total of CGST and SGST/
UGST :

T CGST ©F SGST/UGST F (I5ist

It is levied on intra state supply

B TR [Soe (ISR €s[s
S 591 =

All of the above
S2EF ASCE|
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(b) September 16, 2016
() Which of the following Acts specifies the

rates of custom duties ? 9 ES3R, 2D
e (FITC0! IR0 ST e 219 fa@el G 2 (c) May 1, 2005
(@) The Custom. Act, 1962 1 &, 2005
I % Wi, 1962 | (d) April 1, 2003
(b) The Custom Tariff Act, 1975 | 1 «feiet, 2003
A 5% Aot w2, 1975
(B) Fill in the blanks: - 1x5=5

(c) The Central Excise Act, 1944

] ST AT 1 8
@%W@%W, 1944

(i) The final burden of every indirect
(d) None of the above ] tax falls upon the

8] OIS 72 S P FE OIS (@IS
@HTS AT |

g

(v) Assam VAT Act, 2003 came into force
on:
(ii) One can say GST, a revised edition

rwﬁﬁm@ﬁﬂw, 2003 G IR 1
B 5 :
LT e Fo] SFe (T 9 T FReeiifae
{a) July 1’ 2017 . Himqiﬁ;_ﬁ Wmi
1 W 2017 4 (Sem-6/CBCS) HC 2 (ITL)/G S : Contd.

4 (Sem-6/CBCY HC 2 (ITY/6 4




() __ . was the first country which

introduced VAT, L
I RS 79 2fdy 91 22 o
2= — |

(iv) India adopts GST model.

SIS, Al O R 1 ifE
A FEEG

(v) Goods become liable to
when there is im

: port into or export
from India.

N RIG ST s Sleay ot =aiSe

(b) Write any two features of integrated GS’lI‘.
FRES A 1< (I B IR 75) @R el |

(c) What do you mean by excisable goods ?
SRR AN 0T 76 I8 2

(d) Define the term ‘Territorial Waters of
India’.

SIS $UYT TETSlol HeE |

(e} Write two objectives of GST
implementation in India.

SIETHE 716l S (GRS 26 757 Ty 9T

(Fa© AR 1051 oA 2 |
?/q |
» ' ‘ ions : 5x4=20
_Answer the following questions : 2x5=10 i STSVELGRYfoun ducoliang
3 Rzt 515! e Te fan 2
O YHTEIRT Oes fra ¢ |
, . (a) Prepare a list of taxes subsumed under
(a) What is valid contract of sale under Sale GST.
of Goods Act, 1930 ?
: : 7[¢f] SI: (71 9 (a1 1 (RIS TR 4% i3]
7 K 91, 1930 9 widiTs g R g oS 79 |
&2
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(b)

(¢

(d)

(e)

How is GST a destination based tax ?
Explain with illustration.

SPETE A IR Gl 39 @5 oy fofes 91

Write any five limitations of excise duty-
SRR % I A5 i) <6 |

. y
am? the goods which remain out of
pPurview of VAT,

T G e o1
e A 2t AL

-

Write
e abotft the constitutiona] provisions
ormation of GST Council

iﬁm wﬁ?ﬁ'@?@@m

VIR 8o = (B o4l |

Explain in brief. the d

i f
custom dutieg s bbRe

ffes » )
P 5% 02 3y gy oreo
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4.  Answer any four of the following questions :
10x4=40

oS Tal emEies fAemrr bifene vl il ¢

(@) Describe in brief the history of GST in
India.

SRS #Ael) W (R R 2OF B Il
7|

(p) Discuss the shortcomings of old regime
of indirect taxes. .

SJafd) STaTT T IAEI SRR ST <5 |

(c) Describe in brief the reasons for
introduction of GST in India.

SRS 2] % FRl T LTSN BT
HLCTC! SN 4 |

(d) Distinguish between GST and VAT.

sio S% G T IR T FAfEre 739 ore
ol il |
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(e)

()

Enumerate the need of enacting the state
and union territory legislations for GST.

AT Wi (R *Nifre SIETTTR RN 2o =<
CHmaﬁvﬁﬁwﬁﬁﬂawmﬁmﬁaa@ﬁﬁaaaﬁﬁ@S
(BIRF SIS RTBHR | :

Write the meaning of excise duty.
Evaluate. the position of excise duty in
new tax regime of indirect taxes.

2+8=10
SIIREPIT e ol v | Tt sty <o I

@W$ﬂ§T@¢3@$GV@ﬁ@ﬁﬁﬁﬁﬁﬁiﬁmﬂaaﬁT|_

Define the following terms under the
Customs Act, 1962 2x5=10

Al w= e, 1060 TS e T # e
wgeE] fugt g

() Baggage
DIfET- o1t
(i) Coastal Goods

TR vy
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(ui) Exporter

el
(iv) Imported Goods
i A
(v) Importer
Sy

liable for obtaining
Who are persons :
istration under GST? Ex;_)lam _the
r(;%'cedure of obtaining reglstr%tuig
+bH=
under GST. 4 .

RS Jer T T ORI F99 A
GRS @ WA T S G W TS
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